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






 

 





 



 




…





 




 –





 


 

 
 



 



٢- الدراسات السابقة 

Ram 1986)
 
 
 
Cross Section



 

Landau 1986


 

 




 

Guseh1997


Pourgerami 1988Barro 1991




 






 



 

 Bairam 1990





  (Carrs 1989

 


  

Rao 1989
 


 

 



 



 


 

Karrs 1996

 

Barro 1990











 


 


 


 



 




 

٣- النموذج القياسي المستخدم والبيانات 


 
                                               Y = f (K, L, G)

 
 Y

 K

 G

 f
fk,  fl,  fg > 0

fkk  ,fll,  fgg > 0



G/Y
dG/G
 Conte and Darrat 1988
G/Y
(KdG/G
G

 

                                                        
 Rao 1989Guseh 1997Karrs 1996



 



 


 
 Y = a + b1K + b2 G / Y + b3L + u1       (1)


 

 Y = f (K, L, g)       (2)

 G/L g
Yfg > 0,  fgg < 0

 
      (dY / Y) = b(dL / L) + MPK(dK / Y) + MPG [(dg / g)(G / Y)] + ut       (2-1)

 
 df/dL)(L /Y) b

 df/dKMPK

 df/dGMPG

 u

 


 

Null
 0MPG


 0 <MPG



 




 

 MPG
 

>MPG
 

<MPG
 


 





 



 

٤- النتائج التي تم الحصول عليها 
:أولا
 

 
 Y= 101.30 + 0.81K + 0.09G / Y + 41.07L       (3)

     (5.92)      (2.64)           (3.12)     (8.53)

     R-2 = 0.91      F = 76.02 DW = 0.91



 



 F 2−R (t)
DW
G/YK



 






 

Johansen test
Spurious
5%

 
 

 


 No. of CE’s


 Critical Value
 5
  Critical Value


 Likelihood Ratio


 EigenValue 

         
         
         
         

 
 Y = 291.98 - 0.645 K + 605.46 G / Y - 75.14 L       (4)

          (0.1699) (67.39)         (5.50)

           Loglikliho od = -93.309
                                                        

 



 



 
0.645

 75.137605.464

 :ثانيا
      (5)0.387(dg/g)(G/Y)0.011(dL/L +0.057(dK/Y) +0.0028 +(dy/y)=

 (3.210)(0.0199)(0.227)(0.242)
LM 0.011DW = 1.665F = 3.7922R = 0.276

          (0.916)

 LM
 DW

 



0.387

 


 t 


MPG=1
MPG = γ /s

 s=γ

 ( ∂ F/ ∂ G)(G/Y)γ

 G/Y) s 

   (γ )
    (dY/Y) = a (dL/L) + MPK (dK/Y) + γ (dg/g)                         



 



 
          (dY / Y) = 0.039 + 0.288(dL / L) + 0.863(dK / K) + 0.289(dg / g)       (6)

             (0.969)     (0.601)  (2.980)           (2.627)

         R-2 = 0.503 DW = 1.68 F = 8.439

 

 Karrs1996

  

 
 t



٥- الخلاصة 





 

 


 



 







 
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ABSTRACT. This study aims at defining the relationship between the government
expenditure and the gross domestic product (GDP) for the Kingdom of Saudi Arabia.
Specifically, we will decide the appropriate size of government expenditure as a
percentage of the GDP, and we will measure the productivity of those expenditures. In
this regard we have used a model which permits us to test  “Barro’s” rule. This rule
indicates that the right size of government expenditure is where the value of the
productivity of that expenditure is equal to unit.  Results obtained from our study are:

(1) The value of the productivity of the government expenditure in Saudi Arabia is
positive and equals 0,387 which indicates that expenditure is productive.

(2) The government expenditure is greater than it should be because the value of the
productivity is smaller than one.

(3) The right size of government expenditure in Saudi Arabia as a percentage of GDP
is 29%. This is close to the world average percentage which is equal to 23%
according to the estimation of some of the studies mentioned in this research.  

 


